IRV LV VAN

(@) 083 (b) 1522 (c) 606 (d) 20-10
(e) 036 (f) 033 (g) 009 (h) 7:0I

(a) 0-32, 0-33, 0-34, 0-35, 0-:36, 0-37
(b) 0-58, 0-57, 0-56, 0-55, 0-54, 0-53
(c) 2-44, 2-46, 2-48, 2-50, 2-52, 2-54
(d) 7-20, 7-15, 7-10, 7-05, 7-00, 6-95

(a) 076 (b) 0-09
(c) 224 (d) 4

(a) one from 3-54, 3-55, 3-56, 3-57
(b) one from 9-93, 9-94, 9-95, 9-96, 9-97, 9-98, 3-99, 10-00
(c) one from 4-01, 402, ..., 408, 4-09

(d) one from 10-02, 10-03, ..., 11-20, 1121
(e) one from 37-57, 37-58, ..., 37-64, 37-65
(f) one from 100-00, 10001, ..., 100-53, 100-54

(a) 9 units  (b) 9 hundredths
(d) 9tens  (e) 9 tenths

(c) 9 tenths
(f) 9 hundredths

(@) 1934 (b) 1675 (c) 3348
(d) 5469 (e) 2651 (f) 484

(@) 663 (b) 421 (c) 880

(a) ,_%ow (b) 534 (<) u$

(a) 3-46, 464, 6:36, 7-01
(c) 0:06, 0-56, 0-65, 6:05

(b) 2-59, 2:95, 5:92, 952
(d) 1-01, 1-10, 10:01, 10-10

6 (a) 7-73,7:37,7:03, 3-77
(¢) 0-55, 0-53, 0-35, 0-05

7 (a) £7 (b) £5

(b) 5-15, 511, 5-10, 5-01
(d) 9-19, 901, 1-99, 0-90

(c) £10  (d) £20

I (a) 0-58 (b) 0-42 (c) 0-55
(d) 0-80 (e) 0-73 (f) 093
(g) 076 (h) 0-50 (i) 095
(j) 081 (k) 090 (I) 085
2 Blue
3 (a) 0-50 (b) 021
(c) 0-44 (d) 0-30
(e) 0-17 (f) 0-33
(g) 026 (h) 0-16 .
(i) 048 (j) 0-43
4 (a)| 0-32-] 0-28 | 040 (b){ 0-2 | 0-33 0-47
0-21 063 016 047 | 0-1 0-43
0-47 0-09 [0:44 | 0-33| 0-57 0-1

Game |: Sally 9-78, John 9-99, Mary 977, Harry 9-98 so John wins
Game 2: Jan 5-16, Brad 5-12, Lisa 5:61, Leo 542, so Brad wins
Game 3: Sanji 6:39, Rita 7-57, Paulo 6-43, Lee-jay 7-21, so Rita wins
Game 4: Anja 167, Barry 2-42, Connie 1-66, Dale 1-43, so Dale wins
Game 5: 8:04 — 5-:38 = 2:66, so Blue is the winning card.

Game 6: 3-74 + 4-69 = 843, so Yellow is the winning card.



